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(3) If the row vectors of an n = n matrix A are each perpendicular to a non-zero vector v, then A cannot

be invertible. Why not™?
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(4) Draw the Row Picture and Column Picture that illustrate the equation [ 2 0 ]x = [ o ] and

its solution.
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(5) (a) Draw both the schematic and “literal” pictures of the four fundamental subspaces associated
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(7T) (a) Find the complete solution x = xp + ¥n to the equation Ax=b
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{(8) These guestions are about the vector space M of 2 x 2 matrices (where the “vectors”™ are 2 x 2
matrices).
[a) Give a basis for this vector space M and explain why it is a basis.
{b) What is the dimension of M7

- + v rESIF . - .
{c) Do the 2 x 2 matrices A such that AT = drag to resize or space? If so, give a basis and state

its dimension. If not, give a reason why not.
{d) Do the invertible 2 x 2 matrices form a vector space? If so, give a basis and state its dimension.
If not, give a reason why not.
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